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f(x) = 2x? + Sx? + 2x +15

(a) Use the factor theorem to show that (x + 3) is a factor of f(x).
Q)

(b) Find the constants a, b and c such that

£(x) = (x + 3)(ax? + bx +c)
(2)

(c) Hence show that f(x) = 0 has only one real.root.
2)

(d) Write down the real root of the equation f(x — 5) = 0
qd)

(a) $ (-3) 2 -ShtUS-L+IS = 0
So (+3) is a fuctov

(6) De Long dustin bo quk He Secmd fader
> -—~K +S
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Se £lx) = (+3)(2x7—-x+5) as 2, b=-1 C795

(c) Fov Here to be ome verek In*-x+5 should have no
areal vools | [Tle deletminnt ig blac = |= 2-34
So Hure ate uo real vot fy (2x*-x +5) 50 fla) Les
nly ue real vu. The real motoS x 2-3,

(a) £lx-5) geses a bronslchin of GS th Wy te x direche
So ALA sethon z flx-8) te -345 = 2
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